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Al 14,628
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< 7,000
201 L2l 848,411 240,000 608,411
= 848,411
01 At 22l 848,411 240,000 608,411
OXI T ZAL AFZ (ZHI) 848,411,000€ * 13 848,411
= 848,411
202 O4Hl 7,000 0 7,000
< 7,000
01 = LHA YI 7,000 0 7,000
OXETHZ A AL (& HI) 7,000,000& 7,000
< 7,000
AE2e g = 26,008 12,801 13,207
= 12,330
Al 13,678
101 124l 23,900 12,801 11,099
=2 10,222
Al 13,678
4 JI2ZtHZ2Z2XEE+ 23,900 12,801 11,099
OXNHZALLR BXUARA(2H) 12,370
ooy 68,7203 * 198 = 180 12,370
ORE Jl&a2g3(2%) 1,308
(OFaR= )= 12,369,600& * 3.23% 400
OEINQYESH 400,000& = 8.51% 35
o303 12,369,600& * 4.5% 557
ons=sdg 12,369,600& * 1.5% 186
OtHEH 12,369,600& * 1.05% 130
OXNFZALLR B2 (4 ) (=)
10,222,000& 10,222
= 10,222
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= 2,108
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201 et | 950 0 950
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e I H2 E2H =4 168,231 191,877 N 23,646
& 3,150
Al 165,081
C2HFEA 29 2 =5 117,731 116,877 854
101 Q121 H] 44,097 28,595 15,502
04 JI2ZtHIZ22NEE S 44 097 28,595 15,502
OANFTA JIE ZAF Q18
73,860 ~ 3% x 180 39,885
OBEE Jl&a8d= 4,212
OAHAdEE 39,884,400& * 3.23% 1,289
O&IAEE 1,288,300 * 8.51% 110
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OKAIS 29X 14,561,000 14,561
OE2YHFTA JIEE: S8 25,437,000 25,437
c2Yd d HA3Hs &8 40,000 75,000 A 35,000
401 AlEHIZL 2 0HY| 40,000 75,000 A 35,000
01 Al&H| 40,000 75,000 A 35,000
OEZHZFEA CHHAIE AXI
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& 3,150
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401 AlEHIZL 2 0HY| 10,500 0 10,500
== 3,150
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01 Al&H| 10,500 0 10,500
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700,000 = 1504 10,500
& 3,150
Al 7,350
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201 et d| 20,479 21,556 A1,077
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500,000® * 17¥H = 95% 8,075
oO3EHI (J1=ZHl)
8,000 1798 * 8% * 128 *x 95% 12,404
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01 2L Y| 31,008 32,640 AN 1,632
O=LoHI(JI=ZHl)
20,0009 * 179 * 82 * 128€l » 95% 31,008
203 €2 F=&d| 3,600 3,600 0
04 EANSIE LR F=XH| 3,600 3,600 0]
©J|Z= M (20021 0]56}H) 300,000& = 12& 3,600




